MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION

BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T(786)315-2590  F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building

ACME Engineering and Manufacturing Corporation

1820 N. York Street

Muskogee, OK 74403

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County BNC -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve
the right to have this product or taterial tested for quality assurance purposes, If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHIJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BNC reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Section that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone,

DESCRIPTION: Model PV Aluminnm Rooftop Exhaust Fan

APPROVAL DOCUMENT: Drawing No. 686760, titied “PV Hurricane Fans™ sheets 1 through 3 of 3,
dated 08/10/10 and 04/12/10, with Revision A dated 04/14/11, prepared by ACME Engineering and
Manufacturing Corporation, signed and sealed by Richard Boyette, P.E., bearing the Miaini-Dade County
Product Control approval stamp with the Notice of Acceptance number and approval date by the Miami-
Dade County Product Control Section,

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent labet with the manufacturer's name or logo, City, State and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein,

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement

of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shalt be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.
This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 11-0114.02
Expiration Date: May 05, 2016
Approval Date; May 05, 2011
Page 1




ACME Engineering and Manufacturing Corporation

- NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 686760, titled “PV Hurricane Fans” sheets 1 through 3 of 3, dated
08/10/10 and 04/12/10, with Revision A dated 04/14/11, prepared by ACME
Engineering and Manufacturing Corporation, signed and sealed by Richard Boyette,
P.E.

TESTS
1. Test report on 1) Uniform Static Air Pressure Test per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94,
3) Cyclic Wind Pressure Test per FBC, TAS 203-94,
along with marked-up drawings and installation diagram of four Model PV Aluminum
Roof Mounted Exhaust Fans, prepared by Architectural Testing, Inc., Test Report No.
90350.03-801-18, dated 12/02/10, signed and sealed by Joseph A. Reed P.E.

CALCULATIONS:
1. Anchor verification calculations, prepared by Rick Boyette Consulting, Inc, dated
12/30/10, signed and sealed by Richard Boyette, P.E.

QUALITY ASSURANCE
1. Miami-Dade Building and Neighborhood Compliance Department (BNC)

MATERIAL CERTIFICATIONS

1. None.
STATEMENTS _
1. Statement letter of code conformance with 2007 FBC, issued by Rick Boyette

Consulting, Inc, dated 12/30/10, signed and sealed by Richard Boyette, P.E.
2. No financial interest letter issued by Rick Boyette Consulting, Inc, dated 12/30/10,
signed and sealed by Richard Boyette, P.E.

2a/zs |

Carfos M. Utf*era, P.E.
Product Control Examiner
NOA No, 11-0114.02
Expiration Date: May 05, 2016
Approval Date: May 05,2011




Large Missle Imact Resistant

Max rated design pressure : +33.0 / -1120 PSF

"~ PV _HURRICANE FANS

T 08 710710

PRAFTER TC R (
RELEASE

ENG.

CHKD
BY

TRE TCR (B/10/10
MFG, SCALE N T S_

et D |
== = C cum =
° ]
E
‘l |
Q o (o] Q =] =]
Fan Curb to Roof Curb 1
Connection /
%" sheet metal screws A/ —~ B -
on minimum 6" centers ——" Curb Size
Plan View — Instollation [ F ‘-‘4
N Elevation View - Installation Dimensions (ihches)
igBB\IiD 8 }‘
Not e .n"’""“" R
a? Tﬁ; rooftop exhaust fen has been designed e Q\.-"\GENSE:“ o (‘“"_,-,_
1o comply with the Florlde Bullding Code. S.\Z- o* N LA
b. Roof structure must be designed to withstand o o NO 42485 o
the welght and loading transmitted by this S o %_# b
rooftop exhaust fan. S L2 R
c. This approvel Is for the structural capacity of - de w o
the exterlor housing only, it does not Include . Y IT
ony Interlor mechanism and/or electricel port. =0 STP\TE OF ST
d. This rooftop exhoust fan has not been tested ‘:,'p " v S
for wihd driven raln according to Floride Building ‘:,OA\». Lot N
Code, TAS 100(A). - o L ORI O
e, All fosteners must be corroslon resistant. ’4'4 815“"\'@ \\%
‘0 ,,,__i_\l?:‘ W Bolt Count Fan Dinenslons (nches) Curk_Dimenslons Fan + Curb
" Model A B C D E F G_ |Curb Size| Curb Height] Curk Material |Welght (lbs.
' s to 18  [18 go. GS0 galv. 82
arad Bo tte PE #4p2485 PV075 | PVO8S |PVI00 12 21.00 |23.62 |23.67 |3.44 | 29.00 | 39.62 20,70 8 9 9
Rich yette, FL PV120 | PV135 12 21,00 |26.75 | 29.36 | 4,06 | 29.00 [42.75| 2070 | 8 %o 18 |18 go. GI0 galv.| 83
Rick Boyette Consulting Inc - CoA #9707 PV150 [ PV165 12 24,00 3096 | 3514 [519_| 32,00 (46,96 | 23.70 8 to 18|18 go. GO0 galv, 123
4031 Coconut Blvo PV180 | PV200 16 28.00 |35.40 [39.60 [6.19 | 36,00 {5140 | 27.70 8 to 18 |18 go. GI0 galv, 202
PV220 | PV240 20 34.00 138,39 46,49 [7.75 | 420015439 33.70 8 to 18 |18 ga. GI0 galv. 250
Royal Palm Beach FL 33411
By_f 561-790~5766 ; -
v APPROVED APR 19 :
DWG NO. 6 8 6 7 60 Sh LET. REVISION RECORD BY CKD. DATE
eet 1/3 - | |
A | Added hardware to exploded view and and revised toble on Sheet 2 BPF TCR 4/14/11 Acm@ Ehglheel"lhg &

Manufacturing Corp.
1820 N, York Street
Muskogee, UK /4403
918-682—-//91




Wheel

item# Description 75 85 100 120 135 150
1 Hood 050" aluminum | .050" aluminum 050" aluminum 050" _aluminum 050" _aluminum .050" aluminum
__% ‘&lir][dband 080" aluminum | .0BQ” aluminum .080" _aluminum | .080" aluminum | .080" aluminum 080"_aluminum
otor
4 Motor Base Support 14 ga. G90 galv. | 14 ga. G90 galv. | 14 ga. GI0 galv. [ 14 ga. GO0 galv. |14 ga. GO0 galv. 14 ga. G90 galv.
5 Motor Base 14 go. GO0 galv. | 14 ga. GO0 galv. | 14 ga. G90 galv. | 14 ga. GO0 galv. |14 ao. G90 galv. 14 ga. GS0 qgalv.
6 Separator Pan 20 go. G9O galv. |20 ga. G90 galv. | 20 ga. GO0 galv. | 20 ga. G90 galv. |20 ga. GI0O galv. 18 go. G20 galv.
7 Disconnect Switch :
g Birdscreen .063" aluminum | 063" aluminum 063" gluminum__| ,063" aluminum__|.063"_aluminum .063” aluminum

Curb Cap

.080" aluminum

.080" _aluminum

.080" dluminum

080" aluminum

080" aluminum

.080" aluminum

Windband Reinforcement

16 go. GO0 galv.

16 ga. GO0 galv.

16 go. G90 qalv.

16 ga. G990 galv.

16 ga. GO0 galv.

16 go. G390 galv.

Hood

Bracket Bolt & Nut

1/4=-20

1/3-20

1/4—20

1/4-20

1/4-20

1/4-20

Hood

Brucket Rivet

3/16" Pop Rivets

3/16"7 Pop Rivets

3/18" Pop Rivets

3/16" Pop Rivets

3/16" Pop Rivets

3/16" Pop Rivets

Hood

Bracket

.050” aluminum

.050" aluminum

.050”" aluminum

050" aluminum

050" aluminum

050" aluminum

WindBand Reinf. Rivet

3/16" Pop Rivets

3/18” Pop Rivets

3/167 Pop Rivets

3/16" Pop Rivets

3/16" Pop Rivets

3/16"° Pop Rivets

Hood Bracket Rivet

3/16” Pop Rivets

3/16" Pop Rivels

3/16" Pop Rivets

3/168"7 Pop Rivets

3/168" Pop Rivets

Hood Bracket

050" aluminum

.050" aluminum

.050" aluminum

.050" aluminum

050" aluminum

WindBand Reinf. Rivet

3/16" Pop Rivets

3/16” Pop Rivets

3/16" Pop Rivets

3/16"7 Pop Rivets

3/16" Pop Rivets

Motor Base Bolt & Nut 1/4-20 1/4-20 1/4-20 1/4=-20 1/4-20
Mtr Base—Pan Bolt & Nut 5/16—18 * 5/16—18 * 5/16—18 * 5/16—18 * 5/16—18 *
Birdscreen Screw 1/4" Type AB 1/4" Type AB 1/4" Type AB 1/4” Type AB 1/4" Type AB

Base Pop Rivet

Closed End 3/18"

Closed End 3/18"

Closed End 3/18"

Closed End 3/167

Closed End 3/16"

~Steel material gages shown are nominal.

* Includes negpmmgi-;tg?{pded washer
- oV Boyr,

<,

10

11

12

13

14

15

16 Motor Base Bolt & Nut 1/4-20 1/4-20 1/4=-20 1/4-20 1/4-20 1/4~-20

17 Mtr Base—Pan Bolt & Nut 5/16~18 * 5/16—18 * 5/16—18 * 5/16~18 * 5/16—18 * 5/16~18 *
18 Birdscreen Screw 1/4" Type AB 1/4" Type AB 1/47 Type AB 1/47 Type AB 1/4" Type AB 1/4" Type AB
19 Base Pop Rivet Closed End 3/16" [Closed End 3/16" [Closed End 3/16 |Closed End 3/76" [Closed End 3/16° |Closed End 3/16"
Item# | Qty Description 165 180 200 220 240

1 1 _|Hood .050" aluminum .050" gluminum | 050" aluminum 050" aluminum .050" aluminum

% 1 ‘;\Afirldbond .080" aluminum .080" aluminum | .080" aluminum 080" aluminum .080” _aluminum

otor

4 1 {Motor Base Support 14 ga. G90 galv. | 14 ga. GS0 galv. | 14 ga. G90 galv. [ 10 ga. GI0 gaiv. | 1D ga. G90 galv.

5 1 |Motor Base 14 ga. G90 galv. | 14 ga. G90 galv. | 14 ga. GO0 galv. | 10 ga. G390 galv. |10 ga. GI0 galv.

6 1 _|Separator Pan 18 ga. G90 galv, | 16_ga. GO0 galv. [ 16 ga. GIO galv. |16 ga. GO0 galv. | 16 ga. GO0 galv.

7 1 _[Disconnect Switch

g ;4- aii:dS?reen 063" aluminum .083"_aluminum 063" aluminum 083" aluminum .063" aluminum

ee

10 1 |Curb Cap .0BD” aluminum 080" aluminum .080" aluminum .080"_gluminum 080" aluminurm

11 1_IWindband Reinforcement 16 ga. GSO galv. | 16 ga. GBS0 galv. | 16 ga. G90 galv. | 16 ga. G90 qalv. | 16 ga. GO galv.

12 4 |Hood Bracket Bolt & Nut 1/4-=20 1/4-20 1/4-20 1/4=20 1/4-20 :

13 8

14| 4
15 8

186 4

17 4

18 8

19 B

Actuol Thicknebsss “wil ey in o dogunal, S RCRNSE N,
with industry standard tolerances. TS 42485
$Q7 We L
50 % o
= K o U=
Richard Boyette, FLL PE #42485 oy grate OF JWE
Rick Boyette Consulting Inc — CoA #9707 %TOA Ry R.\_‘i}f‘"’c&g}g
4031 Coconut Bivd Uy SSION R
Royal Palm Beach FL_ 3341 ' on?%m — PV240 Fans
APPROVED APR 18 764
DWG NO. LET. REVISION RECORD BY CKD. DATE . .
TE 68 67 60 Sheet 2/3 A_| Added hardware to exploded view and and revised table on this Sheet BPF TCR 4/14/11 Acme Engmeeriﬂg &
PV HURRICANE FANS Manufacturing Corp.
MAT'L
DRAFTER TCR [PNe 08/10/10 1820 N. York Street
DESIGN / / RELEASED Muskogee, OK 74405
ene. [CR 08/10/10 918—-068 791
g‘}-IKD MFG. SCALE N T$ —€ 2.__7




Large Missile Impact Resistant
Max rated design pressure

+53.0 / —112.0 PSF

.

\

4.00"

° Mounting ~——
/ Flange ——I

#14 x 2" wood Screws 4
2" from corner &

5" 0.C. through plywood

T

and into 2 x 4 framing

5/8" plywood roof decking

Elevation View

Min. 2 x 4 framing at openingj

FPlan View

Wood Deck Instaliation

4.00”
Mounting —=
Flange

Roof Truss

Y2 7 Self—drilling Screws
2" from corner &
8" 0.C. through roof deck

Elevation View

Minimum 12

Ga. Steel

Minimum 20 gage

Roof Deck

Plan View

Metal Building Installation

. 4.00”
Mounting
Flange

T
Minimum Concrete

;é)

Elevation View

Strength 2000PS!

' Hilti Kwik Bolt 3 expansion
anchors or equivalent into concrete
2!!

from corner & Maximum 8" O.C.

Plan Vi_ew

Concrete Deck Installation

ILLELLEE
Qaﬁﬂﬁt;VI[) Eggﬁﬁ}
S g O,
5-{3_.'\’\05 Sgr s,
FO5 o 42485 e
el e U
HRLE * HE
":Ug) . gTATE OF g 5"};’ :
R A e ,“o“‘e:;_»"“- " . . N .
_ -,‘-’_,qj;..,ln_OR\ S Mounting Flange Dimensions Installation Type / Bolt Count
Richard Boyette, FL PE #42485 ~“Model- . Wood Deck [ Metal Building] Concrete Deck
Rick Boyette Consulting Inc — CoA #9707||PV075_|PV0O85 ~ IPV100 29 x 29 24 20 20
4031 C t Blvd PV120 |PV135 29 x 29 24 20 20
oconut Blv PViB5 327 x 327 28 20 20
Royal Palm Beach FL 33411 PV200 36" x 36" 32 20 20
561-790-5766 PV240 427 x 427 36 24 24
APPROVED APR
DWG NO. 68 67 60 Sheet 3 3 LET. REVISION RECORD BY CKD. DATE . .
TTE / A | Added hardware to exploded view and and revised table on Sheet 2 BPF TCR 4/14/11 Acme Englneerlng &

PV Hurricane Fans

MAT'.

DRAFTER "I" C R

o (04719710

P TCR ol

CHKD

Y SCALE I\l —l“ S

Manufacturing Corp.

1820 N. York Street
Muskogee, OK 74403
918—682—-7791




